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LABJNDu4-Normhelligkeit I*

* Yoc=Yw  nc=100,

I* L ABINDU4 =IN(A 17+ A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L agaNDua =IN(A 15 +A2 )/ (A2Aon) - (X=YIYy)
1 (3,6)=348* ,(18)=791,* \y(90)=1231

log[1*/I* J=0, m,=0,33

LABJINDu4

Normfarbwertdifferenz

Yoc=Yw nc=100,
I* L ABINDU4 =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU4=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon.a=1.0, Siehe CIE 230:2019

log (AY/Y) LABJINDu4

. Normfarbwertemfindlichkeit
SEE) Yo=Y ne=100

nc

I* L ABINDU4 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABINDU4=IN(A 17+ A2) (Ao Aon) - (X=YTYy)
AYIY=Aor(ArH Ao )Y=Ag (At AsX)/Y

LABJINDu4
Normfarbwertkontrast
Yoc=Yw nc=100

I* L ABINDU4 =IN(A 17+ AR Y)/(A2nAon)  (Ynd/100<Y<=Yno)

L aganDua =IN(A 10+ A2X)/ (A Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

log(Y/dY)=2,37, m;=0,13 - = =

e

LABJINDu4 relative Normhelligkeit I*/I*
I Yoc=Yw - nc=100,

11 ABINDU4=IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yo)
1* | ABaNDUa =IN(A 10 +AL ) (A2iA0n) - (X=Y1Yy)
1 (3,6)=348 * ,(18)=791 [* y(90)=1231

L* =49, =791

log(AY/AY,)

LABJNDu4 relative
Normfarbwertdifferenz
NNy Yoc=Yw - nc=100,

1L ABINDU4 =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU4 =IN(A 17+ A2) (A2 Aon) - (X=YTYL)
dY/dY =(A1+A X (A1 +AY)

log [(AY/Y) 1 (AYIY),]

LABJNDu4 relative

Normfarbwertempfindlichkeit
SISU=OYNAYY), yomy e

nc

1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU4=IN(A 17 +A2) (A2 Aon)  (X=YIYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)

Salan
log[(dY/YY(dY/Y)]=0, m;=-0,13 1
=791 dY,=0,07 dY,/Y,=0,0042}

=1

Anwendungs-|
bereich

log [(Y/AY) 1 (YAY),]

XN=0,2 Xw=5

LABJNDu4 relativer
Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y =y 2100,

1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YTYL)
(YIYY(YIY) =X (At AN (A 15+A2y)

Anwendungs-|
bereich

%=1
-
XN=0,2 Xw=5

TUB-Prufvorlage CGC4; LABIJNDud*(

)
Absolute, relative Helligkeit, Empfindlichkeit, Kon
M Y

LABJNDu4-Normbhelligkeit L*

L* Yoc=L*w - nc=100

L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/L00<Y<=Y,c)
L* 1 aBanDua=IN(A 10+ A2 X)(AgAon) - (X=YTY)
L* (3,6)=348 L* ,(18)=791,L*/(90)=1231

log[L* /L* jJ=0, m,=0,33

CGC41-1A

logA\Y) LABJNDu4
AY Normfarbwertdifferenz

YomL*yy =100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Ync/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 )/ (A2 Aon)  (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon.a=1.0, Siehe CIE 230:2019

CGC41-3A

log (AY/Y) LABJINDu4

. Normfarbwertemfindlichkeit
S=(@AYH) YomL*w =100

nc’

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1nt A2 X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y

CGCAL-5A
LABJINDu4
- Normfarbwertkontrast
SN Yoe=L*w -~ nc=100
L*Laganpua=IN(A1n+A2nY)/(A2nA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 X)/(A2iAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

Iog(Y/dY):Z 37, m,=0, 1/3// —~

CGC41-7A
CGC41-7N

Yn=(Y&L*) wine x=0,43

LABJINDu4 relative Normhelligkeit L*/L* ,

LHIL* YocmL*w -~ n¢=100,
L* L aganDua=IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Y,o)

L* aBaNDua=IN(A 1+ A2X)/(AoAgn)  (X=Y/Yy)
L*(3,6)=348 L* (18)=791,L* ,/(90)=1231

L* =49,L* =791

CGC41-2A
log(AY/AY,)

LABJNDu4 relative
Normfarbwertdifferenz

AYIAY, o e o0,
L*LagaNDua=IN(A1n+A2Y)(A2rAn) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 10t A2X)(A2iAon) - (X=YTYy)

dY/dY =(A1+A X (A1 +AY)

Anwendungs
bereich

=1

CGC41-4A
1og [(AY/Y) I (AYIY),]

LABJNDu4 relative

Normfarbwertempfindlichkeit
SISU=EYNAYN, v omte e 2160

nc

L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpua=IN(A 1ntA2 ) (A2yAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

a
log[(dY/Y)(dY/Y) =0, m=-0,13 1
L* =791, dY,=0,07 d¥,/Y,=0,0043 ~ fpnwendungs
%=1

XNn=0,2 Xw=5

CGC41-6A
log [(YIAY) / (YAY),]

LABJNDu4 relativer
Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y = s =100,
L*LaganDua=IN(A1n+A2Y)(A2rAon) (Yo 100<Y<=Yyo)
L* L aganDua=IN(A 10+ A2 ) (A2yAon) - (X=YTYy)
(YIYY(YIY) =X (A+A X)) (A 15+A2y)

CGC41-8A

stor®1,5, A1=0,007, Ar=0,0024, A =0,04
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